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TRIGONOMETRY

Example

1. Evaluate : 

View Text Solution

sin 30∘ + cos 30∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sZSuZu1UeeqJ


2. Evaluate : 

View Text Solution

tan 60∘ cot 60∘

3. Evaluate : 

View Text Solution

tan 45∘

tan 30∘ + tan 60∘

4. Evaluate : 

View Text Solution

sin2 45∘ + cos2 45∘

https://dl.doubtnut.com/l/_kogA1GJbbjFg
https://dl.doubtnut.com/l/_QlbEuGJzng0X
https://dl.doubtnut.com/l/_tIlVzyAFkuEt
https://dl.doubtnut.com/l/_xoAIjTg90eMr


5. Find the values of the following: 

View Text Solution

(cos 0∘ + sin 45∘ + sin 30∘ )(sin 90∘ − cos 45∘ + cos 60∘ )

6. Find the values of the following: 

View Text Solution

tan2 60∘ − 2 tan2 − cot2 30∘ + 2 sin2 30∘ + cosec245∘3

4

7. Express 

 in terms of cosine

View Text Solution

sin 74∘

https://dl.doubtnut.com/l/_xoAIjTg90eMr
https://dl.doubtnut.com/l/_1cLgP8pBNUzH
https://dl.doubtnut.com/l/_T1WpHMJSFIwy


8. Express 

 in terms of catangent

View Text Solution

tan 12∘

9. Express 

 in terms of secant

View Text Solution

cosec39∘

10. Find the values of 

View Text Solution

tan 7∘ tan 23∘ tan 60∘ tan 67∘ tan 83∘

https://dl.doubtnut.com/l/_jisRH2dBBq2f
https://dl.doubtnut.com/l/_ylpeoymhdbKu
https://dl.doubtnut.com/l/_rJlLCTC00MpA
https://dl.doubtnut.com/l/_uxRvrNExtk5c


11. Find the values of 

View Text Solution

+ −
cos 35∘

sin 55∘

sin 12∘

cos 78∘

cos 18∘

sin 72∘

12. Find the value of 

View Text Solution

sin 38∘ 36' + tan 12∘ 12'

13. Find the value of 

View Text Solution

tan 60∘ 25' − cos 49∘ 20'

https://dl.doubtnut.com/l/_uxRvrNExtk5c
https://dl.doubtnut.com/l/_kMJmYRWQaWAw
https://dl.doubtnut.com/l/_QOnejQjY82UG


Exercise 6 1

14. Find the value of  if 

View Text Solution

θ

sin θ = 0. 9858

15. Find the value of  if 

View Text Solution

θ

cos θ = 0.7656

1. From the given figure, find all the trigonometric ratios of

angle B 

https://dl.doubtnut.com/l/_Qf6WhA2BrJ9o
https://dl.doubtnut.com/l/_NNKnBebF2D4y
https://dl.doubtnut.com/l/_vkJsRNLk8xnr


View Text Solution

2. From the given figure, find the values of 

 

View Text Solution

sin B

https://dl.doubtnut.com/l/_vkJsRNLk8xnr
https://dl.doubtnut.com/l/_XcSku9Yfdu1j


3. From the given figure, find the values of 

 

View Text Solution

sec B

https://dl.doubtnut.com/l/_cS1wy2ZwUNOK


4. From the given figure, find the values of 

 

cot B

View Text Solution

5. From the given figure, find the values of 

 

https://dl.doubtnut.com/l/_w5XzTPi6U2vX
https://dl.doubtnut.com/l/_Bbeau4dlixCM


cos C

View Text Solution

6. From the given figure, find the values of 

 

tan C

View Text Solution

https://dl.doubtnut.com/l/_Bbeau4dlixCM
https://dl.doubtnut.com/l/_Ep4QGqqKgcHd


7. From the given figure, find the values of 

 

cosec C

View Text Solution

8. If  then find all the trigonometric ratios of

angle 

View Text Solution

3 cos θ = √3,

θ.

https://dl.doubtnut.com/l/_Jtrxh0WNtCtJ
https://dl.doubtnut.com/l/_QQ4cozVTwVip


9. If  then find the value of 

View Text Solution

cos A = ,
3

5
.

sin A − cos A

2 tan A

10. If  then find the values of sinA and tanA

in terms of x.

View Text Solution

cos A = ,
2x

1 + x2

11. If 3 2 cot A = , then find the value of

View Text Solution

.
4 sin A − 3 cos A

2 sin A + 3 cos A

12. If  then find the value of cos θ : sin θ1: 2, .
8 cos θ − 2 sin θ

4 cos θ + 2 sin θ

https://dl.doubtnut.com/l/_SeEvtIyUgybi
https://dl.doubtnut.com/l/_UR3jD9IPanCL
https://dl.doubtnut.com/l/_UJFwntg3gcFj
https://dl.doubtnut.com/l/_M3gEArvfb3aP


View Text Solution

13. From the given figure, prove that  Also

prove that there are two other right angled triangles. Find

 


View Text Solution

θ + ϕ = 90∘ .

sin, α cos β and tan ϕ.

14. A boy standing at a point O finds his kite flying at a point P

with distance OP=25m. It is at a height of 5m from the

https://dl.doubtnut.com/l/_M3gEArvfb3aP
https://dl.doubtnut.com/l/_LiH2VkwKBbSG
https://dl.doubtnut.com/l/_DO7jY4ORx6nn


Exercise 6 2

ground. When the thread is extended by 10m from P, it

reaches a point Q. What will be the height QN of the kite

from the ground? (use trigonometric ratios) 

View Text Solution

1. Verify the following equalities: 

View Text Solution

cos 90∘ = 1 − sin2 45∘ = 2 cos2 45∘ − 1

https://dl.doubtnut.com/l/_DO7jY4ORx6nn
https://dl.doubtnut.com/l/_6sVXpwBwkaye


Exercise 6 3

2. Verify the following equalities: 

View Text Solution

1 + tan2 30∘ = sec2 30∘

3. Verify the following equalities: 

View Text Solution

sin 30∘ cos 60∘ + cos 30∘ sin 60∘ = sin 90∘

1. Find the value of the following: 

( )
2

+ ( ) − 2 cos2 45∘cos 47∘

sin 43∘

sin 72∘

cos 18∘

https://dl.doubtnut.com/l/_xexuHW1huF8c
https://dl.doubtnut.com/l/_2AcOgSwXSQF5
https://dl.doubtnut.com/l/_yHDDwwuZY2gE


View Text Solution

2. Find the value of the following: 

View Text Solution

+ + − 8 cos2 60∘cos 70∘

sin 20∘

cos 59∘

sin 31∘

cos θ

sin(90∘ − θ)

3. Find the value of the following: 

View Text Solution

tan 15∘ tan 30∘ tan 45∘ tan 60∘ tan 75∘

4. Find the value of the following: 

View Text Solution

+
cot θ

tan(90∘ − θ)

cos(90∘ − θ)tan θ sec(90∘ − θ)

sin(90∘ − θ)cot(90∘ − θ)cosec(90∘ − θ)

https://dl.doubtnut.com/l/_yHDDwwuZY2gE
https://dl.doubtnut.com/l/_KkbQzsBtdmOm
https://dl.doubtnut.com/l/_FQCQG8M5CSXV
https://dl.doubtnut.com/l/_34tL6pVXst7W


Exercise 6 4

1. Find the value of the following: 

View Text Solution

sin 49∘

2. Find the value of the following: 

View Text Solution

cos 74∘ 39'

https://dl.doubtnut.com/l/_34tL6pVXst7W
https://dl.doubtnut.com/l/_QWqDdAAFw6fV
https://dl.doubtnut.com/l/_ZFOen8mtWY1s


3. Find the value of the following: 

View Text Solution

tan 54∘ 26'

4. Find the value of the following: 

View Text Solution

sin 21∘ 21'

5. Find the value of the following: 

View Text Solution

cos 33∘ 53'

https://dl.doubtnut.com/l/_wAd03GdKjOMg
https://dl.doubtnut.com/l/_KfLQ2Hy0urZg
https://dl.doubtnut.com/l/_PN5LuYMQOnQp
https://dl.doubtnut.com/l/_aW2o5FJd6Opd


6. Find the value of the following: 

View Text Solution

tan 70∘ 17'

7. Find the value of  if 

View Text Solution

θ

sin θ = 0. 9975

8. Find the value of  if 

View Text Solution

θ

cos θ = 0. 6763

https://dl.doubtnut.com/l/_aW2o5FJd6Opd
https://dl.doubtnut.com/l/_ndz6Rb2XKmOE
https://dl.doubtnut.com/l/_z5aEjkT4APJU


9. Find the value of  if 

View Text Solution

θ

tan θ = 0. 0720

10. Find the value of  if 

View Text Solution

θ

cos θ = 0.0410

11. Find the value of  if 

View Text Solution

θ

tan θ = 7.5958

https://dl.doubtnut.com/l/_Pr47U03zqPHx
https://dl.doubtnut.com/l/_bcQaOF2Dgqht
https://dl.doubtnut.com/l/_yKmVXTeMqX26
https://dl.doubtnut.com/l/_hpnRoutewll4


12. Find the value of the following: 

View Text Solution

sin 65∘ 39' + cos 24∘ 57 + tan 10∘ 10'

13. Find the value of the following: 

View Text Solution

tan 70∘ 58' + cos 15∘ 26' − sin 84∘ 59'

14. Find the area of a right triangle whose hypotenuse is

10cm and one of the acute angle is 

View Text Solution

24∘ 24'

https://dl.doubtnut.com/l/_hpnRoutewll4
https://dl.doubtnut.com/l/_9oKpHikgIH0g
https://dl.doubtnut.com/l/_hpYPNorcc2L4


15. Find the angle made by a ladder of length 5m with the

ground, if one of its end is 4m away from the wall and the

other end is on the wall.

View Text Solution

16. In the given figure, HT shows the height of a tree standing

vertically. From a point P, the angle of elevation of the top of

the tree (that is ) measures  and the distance to the∠P 42∘

https://dl.doubtnut.com/l/_dNIx3kZO2nds
https://dl.doubtnut.com/l/_UbmWjGDIIDej


Exercise 6 5 Multiple Choice Questions

tree is 60 metres. Find the height of the tree. 

View Text Solution

1. If  then  issin 30∘ = x and cos 60∘ = y, x2 + y2

https://dl.doubtnut.com/l/_UbmWjGDIIDej
https://dl.doubtnut.com/l/_ix4FZqIOZ5gp


A. 

B. 0

C. 

D. 

Answer: A

View Text Solution

1

2

sin 90∘

cos 90∘

2. If  then the value of  is

A. 

B. 

C. 

D. 

tan θ = cot 37∘ , θ

37∘

53∘

90∘

cos 90∘

https://dl.doubtnut.com/l/_ix4FZqIOZ5gp
https://dl.doubtnut.com/l/_dqk75W5brIUA


Answer: B

View Text Solution

3. The value of tan  is

A. 0

B. 1

C. 

D. 

Answer: B

View Text Solution

72∘ tan 18∘

18∘

72∘

https://dl.doubtnut.com/l/_dqk75W5brIUA
https://dl.doubtnut.com/l/_iwLuYwIRl2hs


4. The value of  is equal to

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

2tan 30∘

1 − tan2 30∘

cos 60∘

sin 60∘

tan 60∘

sin 30∘

5. If  then the value of  is

A. 

B. 

2 sin θ = √3, θ

90∘

30∘

https://dl.doubtnut.com/l/_YnavQfarb6fK
https://dl.doubtnut.com/l/_vTlGAjsjYTsx


C. 

D. 

Answer: B

View Text Solution

45∘

60∘

6. The value of  is

A. 2

B. 3

C. 5

D. 6

Answer: C

Vi T t S l ti

sin 70∘ sec 20∘ + 2sin 49∘ sec 51∘

https://dl.doubtnut.com/l/_vTlGAjsjYTsx
https://dl.doubtnut.com/l/_P8b6qtBzcBJ8


View Text Solution

7. The value of  is

A. 2

B. 

C. 0

D. 

Answer: C

View Text Solution

1 − tan2 45∘

1 + tan2 45∘

1

2

8. The value of

cosec(70∘ + θ) − sec(20∘ − θ) + tan(65∘ + θ) − cot(25∘ − θ)

https://dl.doubtnut.com/l/_P8b6qtBzcBJ8
https://dl.doubtnut.com/l/_QHEDUJC83TxP
https://dl.doubtnut.com/l/_AIPYvQ5Zexa8


is

A. 0

B. 1

C. 2

D. 3

Answer: A

View Text Solution

9. The value of  is

A. 0

B. 1

C. 2

tan 1∘ tan 2∘ tan 3∘ ...tan 89∘

https://dl.doubtnut.com/l/_AIPYvQ5Zexa8
https://dl.doubtnut.com/l/_ShMv7u4RmTeK


D. 

Answer: B

View Text Solution

√3

2

10. Given that  then the value of 

 is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

sin α = and cos β = ,
1

2

1

2

α + β

0∘

90∘

30∘

60∘

https://dl.doubtnut.com/l/_ShMv7u4RmTeK
https://dl.doubtnut.com/l/_z1DOwYRO6hrf


https://dl.doubtnut.com/l/_z1DOwYRO6hrf

